nu'rs’(ﬁ) or CR  Spurious CR Showering CR Muon Total bkg. (10016/65%16}200) a 538}’{?36{410) Observed
1 80 640072 56 172+23 313 023+001 239+24 010006 0.00 £ 0.00 33
2 14 1124030 4 1234+061 17 001+£001 236+068  0.80=+0.17 0.00 £ 0.00 3
3 170 589+45 33 81+14 0 0004000 67047 0044003 0.00 & 0.00 51
4 23 80+17 3 074+043 0 000£000 87+17  017£0.07 0.00 £ 0.00 5
5 44 3524053 24 74+15 18 013+001 11.0+16 077 +0.16 0.03 £ 0.03 10
6 7 056+021 1 031+£031 9 001+£001 087037  4.86+0.38 0.00 £ 0.00 1
7 92 3194+33 23 57+12 0 000£000 37.5+35  019+0.07 0.00 £ 0.00 25
8 10 35+£11 2 049£035 0 000+£000 40+12 1.02 £0.15 0.03 £ 0.02 1
9 4 032+016 8 246+087 37 0.03+£003 28108  0.00=0.00 0.00 £ 0.00 3
10 1 008£008 0 00079% 0 0004000 0.087)% 0.06 & 0.04 0.00 £ 0.00 0
11 10 35+£11 4 098+£049 0 000+£000 45+12 0.0 =£0.00 0.00 £ 0.00 4
12 2 069+£049 0 0007930 0 0.00£000 07739 0.00 == 0.00 0.11 £0.11 0
13 10 0.80+025 15 46+12 157 012+001 55+12  0.14£007 0.18 £ 0.10 7
14 1 008+008 0 0007557 5 000+000 0087537 1.19 £0.18 0.96 & 0.27 0
15 31 107+19 12 295+085 0 000£000 137+£21  0.03£0.02 0.61£0.17 9
16 5 1734+£077 0 000133 0 0004+000 17412 0.18 + 0.06 3.41+042 3
17 1 008+008 4 1234+061 186 014+0.01 145+062  0.07£0.05 0.00 & 0.00 0
18 0 001+£001 0 000733 12 001+£001 002433 0.67 £ 0.18 0.00 = 0.00 0
19 7 2424£092 2 049£035 0 000£000 292098  0.00=£0.00 0.00 £ 0.00 4
20 3 1.04+060 1 025+025 0 000£000 128065  0.07+0.04 0.00 £ 0.00 1
21 2 016+011 4 123+061 198 0.15+001 154+£063 0.61+0.14 119 £ 0.35 2
22 0 003+£003 0 00070 10 001£001 0.04%337 4.81 £ 0.40 1.91 £ 0.40 0
23 9 31+10 5 123+055 0 000+£000 44=£12  0.10£0.05 0.94 £0.16 6
24 1 035+035 0 000739 0 000£000 03579 122 +£0.19 4.10 £0.51 0
25 6 048+020 1 031+031 23 002+£002 080+£036  0.02+0.02 0.09 £ 0.09 3
26 4 032£016 0 00093 1 000£000 032193 0.08 £ 0.05 0.00 == 0.00 0
27 42 146+£22 4 098+£049 0 000£000 155+23  0.00 =+ 0.00 0.00 £ 0.00 13
28 8 2774+098 1 025+025 0 000£000 30+10  0.02+0.02 0.03 £ 0.03 2
29 3 024£014 0 00093 19 001+£001 02503 0.00 == 0.00 0.00 = 0.00 0
30 3 024+£014 0 00003 0 000£000 0247038 0.00 == 0.00 0.00 == 0.00 0
31 8§ 277£098 1 025+025 0 000£000 30£10  0.00%0.00 0.00 & 0.00 2
32 3 1.04+060 0 000703 0 0004000 107} 0.00 = 0.00 0.03 £ 0.02 0
33 3 024+014 4 123+061 155 011001 158063  0.06+0.04 048 £0.25 2
34 0 004£004 0 0007557 6 000£000 0.0570% 0.71 £0.16 0.59 + 0.27 0
35 20 69+16 2 049+035 0 000+£000 74+16  0.00=+0.00 0.31+0.18 4
36 2 069+049 1 025+025 0 0.00£000 094+055  0.12+0.06 0.76 £0.22 1
37 9 072£024 0 000703 7 001+£001 073061  0.03=+0.03 0.00 £ 0.00 0
38 3 0244014 0 00073 1 000£000 0247538 0.04 £ 0.04 0.01 £ 0.01 1
39 39 135+22 5 123+055 0 000£000 147+22  0.00=£0.00 0.00 £ 0.00 10
40 2 069+049 1 025+025 0 0.00£000 094+055  0.00=£0.00 0.00 £ 0.00 2
41 1 008£008 1 0314031 12 001001 040032 0.0 = 0.00 0.00 £ 0.00 0
42 0 001£001 0 00075 0 000£000 0.0170% 0.00 = 0.00 0.00 = 0.00 0
43 6 208+085 3 074+043 0 000£000 2.82+£095  0.00=£0.00 0.00 £ 0.00 4
44 0 037+£037 0 00079030 0 000£000 037793 0.00 == 0.00 0.03 == 0.02 0
45 5 040+018 3 0924053 47 0.03+001 136+056  0.27+0.10 0.14 £ 0.05 0
46 0 007£007 0 00033 3 000£000 007433 1.12 £0.22 0.72 £ 0.22 0
47 13 45+£13 2 049+£035 0 000£0.00 50+13  0.00=£0.00 0.37 £0.14 3
48 2 069+049 0 000733 0 000+£000 079 0.27 £ 0.09 091 £ 0.19 0
49 1 035+035 0 0007557 1 0004+000 035755 4.57 £0.39 0.66 = 0.24 0

—0.00



